Advanced

SakuraBlossom ¥ ¥ ¥

an origina[ design by Samantha Lemieux

é < 6 The only symbol more associated with Japan than Mt- Fuji is

sa ku ra the cherry blossom- These flowers are the national symbol of

pronounced: Japan, and can be seen adorning everything from airlines to
sah-Ku-rah restaurants:

“sakura ga miemasu In the spring, there is a special time of year called “hanami”

a?” (ha-nah-mee) which literally means “Fflower viewing,” and is a

sah-ku-rah gah time of year when everyone takes a break from their busy life to

mee-ae-mahs kah?

enjoy the fleeting moments that the cherry trees are in bloom,
“Shall we see the cherry  with picnics and festivals around the country-
blossoms?’

You will be making five of these petals, and stitching
€& 63| 6261 «~ them together along the edge when they're finished. You'll
stitch the very outside beads together, going through them

C e < on both petals.
54 47 16N So, you'll stitch #46 to #46, and #26 to #26.

C 37 46 It sounds more complicated than it is, just put
36 I I % | them together however you can get it to
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work.
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11/0 Delica Beads on M'Lyuki
Duracoat Galv Yellow Gold (DB1833)
Matte Crystal AB* (DBO851)

Dyed Lt Rose S/L Alabaster (DB0624)
Dyed Rose S/L Alabaster (DB0625)

* these were the only color I had on hand that looked
good with the pinks, but you can use straight white too

Cut a piece of foeading thread

& about60” (150cm) long and
thread your needle. Pick up

an extra bead and pass

the needle back

- through itz
) times...

This pattern uses a “brick stit¢h.”
1. String on 2 beads (a)

© @

..being
sure to leave at
least 6” (15cm)
for a tail.

bring the needle back thvough bead 1(c) and then
through bead 2 again (d)

2. Add the next bead
® ®

*After you finish a petal, carefully take off the bead
st(f;pe{ mnfdE threa your nee(JiCle \)A,/ith thgﬂ;aiL

Weave this tail in and out of the beads to secure it.
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ick up bead 3 (¢) & (f) and go back through
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3. Continue adding beads until you have them all D[:]DE]L_;] DU L0 00000
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N/ N \J \ O000ONOOO0000 where you ended. Then continue on

with your pattern.
The brick stitch is one cf the hardest beading stitches to do TMO. Keep practicing, and don't be aﬁaid L__\ oy
to grab your scissors, cut the beadls out, and start again! You'll get better every time, so don't give up!



Sakura Blossom

Increasing a row by one bead at the start

1. String on 2 beads
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4. Logi\t;ﬁmogg ig'l one bead at a time, just
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Increasing a row by 2+ beads at the start

This is exactly the same as increasing by one
bead, except {fhat instead of going on (ﬁstep 4),
youwill go back and add another bead next to
the start, using the same stitching as you did

for creating the furst row
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Increasing a row by 2+ beads at the end

This is exactly the same as increasing by one bead, except that insteacl

you’ii string op-a other beaﬂijust like you did for the ﬁrst Tow.

through the thread between those two beacls to
enext vow, it just makes things more secure IMO.

Decreasing a row by one bead at the start

1. String on 2 beads
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3. Go back up through bead 12
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4. Eﬁg\%&h%%g gh one bead at a time, just
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Decreasing a row by 2+ beads at the start
Befove putting on ay beads, got rough the
thread between the two on the end - this keeps
your next beads ﬂat. Once you are where you Q

want to start, thread on the next beads and ,,@

continue.
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Decreasing a row by one bead at the end
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Decreasing a row by 2+ beads at the end

Its exactiy the same as decreasing any others.
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See, sometimes
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If youmade it through all of these, congratulations! This is a tough stitch to learn, but

once you have it down, believe mez/ou’ii never forget how to do it.

1 have classified this one as “advanced” simply for it having so many increases/decreases in

the pattern, as well as needing to stitch the petals together to create a 3D shape.



